Installation manual

Montageanleitung e Notice de montage e Istruzioni per il montaggio ¢ Manual de montaje ® Monteringsanvisning e
Installatiegids e Montazni navod e Asennusohje e Installationsmanual e Instrukcja instalacji ® Paigaldusjuhend

Log cabin FR28-2524

Blockhaus e Maisonnette en poutres e Casa di travi @ Casa de jardin e Anneks e Tuinhuis e Zahradni domek e
Timmerstuga e Hirsimdkki @ Dom z bali @ Freesprussmaja

Width 250 x Depth 250 cm
Breite/Tiefe e Largeur/Profondeur e Lunghezza/Profondita ¢ Ancho/Profundidad e Bredde/Dybde e Breedte/Diepte
e Sifka/Hloubka e Leveys/Pituus e Bredd/Langd e Szerokos$¢/Glebokos¢ e Laius/pikkus

Log thickness 28 mm

Bohlenstéarke e Epaisseur des murs e Spessore delle pareti @ Grosor de pared e Tykkelse ® Wanddikte e Tloustka
stény e Seinan paksuus e Vaggtjocklek ® Grubos¢ scian e Seinapaksus

The producer shall have the right to make technical changes to the product e Technische Anderungen vorbehalten e Le

producteur réserve le droit d’effectuer des modifications techniques au produit e Il produttore mantiene il diritto di apportare
modifiche tecniche al prodotto e Reservado el derecho a modificaciones técnicas e Produsent forbeholder seg retten til & endre

tekniske egenskaper ved produktet ® Alle rechten en technische wijzigingen voorbehouden e Vyrobce si vyhrazuje pravo na
technické zmény vyrobku e Valmistaja pidattéa oikeuden tehdéa tuotteeseen teknisia muutoksia e Tillverkaren har réatt att utféra
tekniska forandringar for produkten e Producent zastrzega sobie prawo do dokonywania zmian technicznych produktu e Tootja
jatab endale diguse muuta toote tehnilisi omadusi



SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Profile Lengfh
P0S PCs
FR78-2524 (mm) (mm)
007 W /8%55 /500
007 16 /8% 11k /500
003 1 W /8x120 2900
004 — / /8x55 LY
005 ] 37 /8x 114 L9
006 W /8x 11k 2900
007 i W /8%55 2900
008 | 34 28x 114 LLLL
= ] I 009
WA-1 o~ 008 1
2bLL
= ] I 009
WB-1 o~ 008 1
2bbk
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentacion
AR | . / L5x45 2490
Foundation- Fundament- Fondation- Fendazione- Vigas de cimentacion
AR? | . / L5x 45 /L0
Covering board- Deckbrett- Madrier de couverture- Tavola di coperfura- Liston de cubierta
LoBL / 95x16 2160
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Liston de cubierta
LoB/ / 95x16 2110
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Liston de cubierta
CoB3 L 95x16 1995
Covering board- Deckbrett- Madrier de couverture- Tavola di coperfura- Liston de cubierta
LoB / 10x19 2960
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Liston de cubierta
CoB5 / 10x19 /940
Post- Pfosften- Pofeau- Monfanfe- Poste
Pst/ | . / L5x 45 2150
Post- Pfosten- Pofeau- Montante- Posfe
PST] | . / L5x45 2100
Railing board- Gelander- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla
Rai? | ST | 2 | 19 | 3060
Railing board- Gelander- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla
Rail | T | 2| 9k | 2940
Railing board- Gelander- Barre de rambarde- Tavols di ringhiers- Tabla de barandilla
Raif | 2 | 19x105 | 3060
Railing board- Gelander- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla
Rai3 | 2 | 19x105 | 2940
Support brace- Stitzleiste- Baguette de support- Listello di supporto- Liston de soporte
SP1 3 L x195 260
Support brace- Stitzleiste- Baguette de support- Listello di supporto- Liston de soporte
SPY ) b LLx1720 500
] © |Object name FR28-2524 Page  1/3



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR28-2524

AutoCAD SHX Text
1/3

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR28-2524

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
28x55

AutoCAD SHX Text
2500

AutoCAD SHX Text
002

AutoCAD SHX Text
18

AutoCAD SHX Text
28x114

AutoCAD SHX Text
2500

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
28x120

AutoCAD SHX Text
2900

AutoCAD SHX Text
004

AutoCAD SHX Text
2

AutoCAD SHX Text
28x55

AutoCAD SHX Text
479

AutoCAD SHX Text
005

AutoCAD SHX Text
32

AutoCAD SHX Text
28x114

AutoCAD SHX Text
479

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
28x114

AutoCAD SHX Text
2900

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
28x55

AutoCAD SHX Text
2900

AutoCAD SHX Text
008

AutoCAD SHX Text
34

AutoCAD SHX Text
28x114

AutoCAD SHX Text
2444

AutoCAD SHX Text
WA-1

AutoCAD SHX Text
1

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
2444

AutoCAD SHX Text
224

AutoCAD SHX Text
WB-1

AutoCAD SHX Text
1

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
2444

AutoCAD SHX Text
224

AutoCAD SHX Text
AR1

AutoCAD SHX Text
2

AutoCAD SHX Text
45x45

AutoCAD SHX Text
2490

AutoCAD SHX Text
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentación

AutoCAD SHX Text
AR2

AutoCAD SHX Text
2

AutoCAD SHX Text
45x45

AutoCAD SHX Text
2400

AutoCAD SHX Text
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentación

AutoCAD SHX Text
CoB4

AutoCAD SHX Text
2

AutoCAD SHX Text
95x16

AutoCAD SHX Text
2160

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
CoB2

AutoCAD SHX Text
2

AutoCAD SHX Text
95x16

AutoCAD SHX Text
2110

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
CoB3

AutoCAD SHX Text
4

AutoCAD SHX Text
95x16

AutoCAD SHX Text
1995

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
CoB1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x19

AutoCAD SHX Text
2960

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
CoB5

AutoCAD SHX Text
2

AutoCAD SHX Text
70x19

AutoCAD SHX Text
2940

AutoCAD SHX Text
Covering board- Deckbrett- Madrier de couverture- Tavola di copertura- Listón de cubierta

AutoCAD SHX Text
Pst2

AutoCAD SHX Text
2

AutoCAD SHX Text
45x45

AutoCAD SHX Text
2150

AutoCAD SHX Text
Post- Pfosten- Poteau- Montante- Poste

AutoCAD SHX Text
Pst1

AutoCAD SHX Text
2

AutoCAD SHX Text
45x45

AutoCAD SHX Text
2100

AutoCAD SHX Text
Post- Pfosten- Poteau- Montante- Poste

AutoCAD SHX Text
Rai2

AutoCAD SHX Text
2

AutoCAD SHX Text
19x114

AutoCAD SHX Text
3060

AutoCAD SHX Text
Railing board- Geländer- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla

AutoCAD SHX Text
Rai4

AutoCAD SHX Text
2

AutoCAD SHX Text
19x114

AutoCAD SHX Text
2940

AutoCAD SHX Text
Railing board- Geländer- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla

AutoCAD SHX Text
Rai1

AutoCAD SHX Text
2

AutoCAD SHX Text
19x105

AutoCAD SHX Text
3060

AutoCAD SHX Text
Railing board- Geländer- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla

AutoCAD SHX Text
Rai3

AutoCAD SHX Text
2

AutoCAD SHX Text
19x105

AutoCAD SHX Text
2940

AutoCAD SHX Text
Railing board- Geländer- Barre de rambarde- Tavola di ringhiera- Tabla de barandilla

AutoCAD SHX Text
SP1

AutoCAD SHX Text
3

AutoCAD SHX Text
44x195

AutoCAD SHX Text
260

AutoCAD SHX Text
Support brace- Stützleiste- Baguette de support- Listello di supporto- Listón de soporte

AutoCAD SHX Text
SP2

AutoCAD SHX Text
4

AutoCAD SHX Text
44x120

AutoCAD SHX Text
300

AutoCAD SHX Text
Support brace- Stützleiste- Baguette de support- Listello di supporto- Listón de soporte


SPECIFICATION-STUCKLISTE -NOMENCLATURE-ELEMENTI-ESPECIFICATION Profile | Lengfh
P0S PCS
FR28-2524 (mm) (mm)
Support brace- Stitzleiste- Baguette de support- Listello di supporto- Liston de soporte
SP3 — L 37x b0 218
Tender post- Tenderleiste- T-paste- Rinforzo- Refuerzo
1P / 19%28 1880
Purlin- Dachpfette- Arbaletrier- Arcareccio- Correa
PR - - = 2 | khx120 | 2900
RB1-T | Roof board- Uachbreff- Madrier du foif- Tavola fefto- [abla de Tejado > | 33 89x16 2910
Roof edge reinforcement- Dachrandleiste- Baguefte en bordure du foif- Rinfarzo bordo —
e fefto- Refuerzo borde fejado T6xk5 == | / o ol
SIS5-1 | Side slat - Randleiste - Bagueffe en bardure - Listello bordo 5 g / /8xL5 1576
\ -Fixing kit- Befesftigungsset- Moyens de fixation- Materiale di fissaggio- Kit de
=Im L W USE
fljacion
%JX%SB Cylinder- Zylinderschloss- Serrure a morfaiser- Serratura a clindro- Bombin- 30.35 W TUZ28-13P
KQAtPgt Door fittings- Turbeschlag- Ferrure- Ferramenta porta- Manilla puerta- QLIUKAPal W TU28-13P
%QZVDW Keeper- Schliessblech- Tale- Lamiera- Aldaba de candado- 120/n W TU28-13p
XQZNO%% L-iron- Winkel- Angle -Angolo- Angulo 20x20x4( 16 ARx+wall
LQONX%OOZXD L-iron- Winkel- Angle -Angolo- Angulo 40x40x40 L ART+ARY
Vi | Nail- Nagel- Clou- Chiodo- Clavo- 25x50mm | 150 RBI-
UERPZL Screw- Schraube- Vis- Vite- Tornillo- 25xT6mm Zn | 2
QKRPP3 o ‘
Screw- Schraube- Vis- Vite- Tornillo- 3.5x25mm /Zn = 100 ° 3
5x257n (>
QBKXREQPZBD Screw- Schraube- Vis- Vite- Tornillo- 3.5x40mm P | § (oB?2: (0B3: (oBL
URAF 1 Screw- Schraube- Vis- Vite- Tornillo- 3x30mn —_ | 10 REI-1
Qésgopfﬂ Strew- Schraube- Vis- Vite- Tornillo- & 5x50mm e 190 TP Raix; LoBt, CoBo,
— SP2+SP3:
UERPEE] Screw- Schraube- Vis- Vite- Tornillo- & 5x60mm - 320 | wall+PstH Pst2)
AKRPPL SRV \ 7 \
y707n| Screw- schraube- Vis- Vite- Tornillo- &5x/0mm P———————— » S155-1
NKRPP L | 7 1U28-13P:
c,007n | >crew- Schraube- Vis- Vite- Tornillo- 5x30mm P= 30 W3llsSPT: wallsSP?
UEREZO | Screw- Schraube- Vis- Vite- Tornilo- 6x120mm b= 10 AR PRx
] © |Object name FR28-2524 Page  2/3



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR28-2524

AutoCAD SHX Text
2/3

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR28-2524

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
SP3

AutoCAD SHX Text
4

AutoCAD SHX Text
32x40

AutoCAD SHX Text
218

AutoCAD SHX Text
Support brace- Stützleiste- Baguette de support- Listello di supporto- Listón de soporte

AutoCAD SHX Text
TP1

AutoCAD SHX Text
2

AutoCAD SHX Text
19x28

AutoCAD SHX Text
1880

AutoCAD SHX Text
Tender post- Tenderleiste- T-poste- Rinforzo- Refuerzo

AutoCAD SHX Text
PR1

AutoCAD SHX Text
2

AutoCAD SHX Text
44x120

AutoCAD SHX Text
2900

AutoCAD SHX Text
Purlin- Dachpfette- Arbalétrier- Arcareccio- Correa

AutoCAD SHX Text
200

AutoCAD SHX Text
2444

AutoCAD SHX Text
200

AutoCAD SHX Text
RB1-1

AutoCAD SHX Text
Roof board- Dachbrett- Madrier du toit- Tavola tetto- Tabla de tejado

AutoCAD SHX Text
33

AutoCAD SHX Text
89x16

AutoCAD SHX Text
2910

AutoCAD SHX Text
RE1-1

AutoCAD SHX Text
Roof edge reinforcement- Dachrandleiste- Baguette en bordure du toit- Rinforzo bordo

AutoCAD SHX Text
tetto- Refuerzo borde tejado 16x45

AutoCAD SHX Text
2

AutoCAD SHX Text
16x45

AutoCAD SHX Text
1450

AutoCAD SHX Text
SiS5-1

AutoCAD SHX Text
Side slat - Randleiste - Baguette en bordure - Listello bordo 5

AutoCAD SHX Text
2

AutoCAD SHX Text
28x45

AutoCAD SHX Text
1576

AutoCAD SHX Text
Fim

AutoCAD SHX Text
-Fixing kit- Befestigungsset- Moyens de fixation- Materiale di fissaggio- Kit de

AutoCAD SHX Text
fijación

AutoCAD SHX Text
1

AutoCAD SHX Text
QULSI

AutoCAD SHX Text
30x35

AutoCAD SHX Text
Cylinder- Zylinderschloss- Serrure a mortaiser- Serratura a cilindro- Bombin- 30.35

AutoCAD SHX Text
1

AutoCAD SHX Text
QLIU

AutoCAD SHX Text
KAPal

AutoCAD SHX Text
Door fittings- Türbeschlag- Ferrure- Ferramenta porta- Manilla puerta- QLIUKAPal

AutoCAD SHX Text
1

AutoCAD SHX Text
QRV1

AutoCAD SHX Text
20Zn

AutoCAD SHX Text
Keeper- Schliessblech- Tole- Lamiera- Aldaba de candado- 120Zn

AutoCAD SHX Text
1

AutoCAD SHX Text
QNU20

AutoCAD SHX Text
x20x40

AutoCAD SHX Text
L-iron- Winkel- Angle -Angolo- Angulo 20x20x40

AutoCAD SHX Text
16

AutoCAD SHX Text
QNU40x

AutoCAD SHX Text
40x40Zn

AutoCAD SHX Text
L-iron- Winkel- Angle -Angolo- Angulo 40x40x40

AutoCAD SHX Text
4

AutoCAD SHX Text
QNA2_

AutoCAD SHX Text
2x50Zn

AutoCAD SHX Text
Nail- Nagel- Clou- Chiodo- Clavo- 2.5x50mm

AutoCAD SHX Text
150

AutoCAD SHX Text
QKRPP2

AutoCAD SHX Text
_5x16Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 2.5x16mm Zn

AutoCAD SHX Text
2

AutoCAD SHX Text
QKRPP3

AutoCAD SHX Text
_5x25Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3.5x25mm Zn

AutoCAD SHX Text
100

AutoCAD SHX Text
QKRPP3

AutoCAD SHX Text
_5x40Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3.5x40mm

AutoCAD SHX Text
80

AutoCAD SHX Text
QKRPP

AutoCAD SHX Text
3x30Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3x30mm

AutoCAD SHX Text
10

AutoCAD SHX Text
QKRPP4

AutoCAD SHX Text
_5x50Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x50mm

AutoCAD SHX Text
190

AutoCAD SHX Text
QKRPP4

AutoCAD SHX Text
_5x60Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x60mm

AutoCAD SHX Text
320

AutoCAD SHX Text
QKRPP4

AutoCAD SHX Text
_5x70Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x70mm

AutoCAD SHX Text
5

AutoCAD SHX Text
QKRPP

AutoCAD SHX Text
5x90Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 5x90mm

AutoCAD SHX Text
30

AutoCAD SHX Text
QKRPP6

AutoCAD SHX Text
x120Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 6x120mm

AutoCAD SHX Text
10

AutoCAD SHX Text
USE

AutoCAD SHX Text
TU28-13P

AutoCAD SHX Text
TU28-13P

AutoCAD SHX Text
TU28-13P

AutoCAD SHX Text
ARx+wall

AutoCAD SHX Text
AR1+AR2

AutoCAD SHX Text
RB1-1

AutoCAD SHX Text
CoB2; CoB3; CoB4

AutoCAD SHX Text
RE1-1

AutoCAD SHX Text
TP1; Raix; CoB1; CoB5;

AutoCAD SHX Text
wall+Pst1 (Pst2)

AutoCAD SHX Text
SP2+SP3; ...

AutoCAD SHX Text
SiS5-1

AutoCAD SHX Text
TU28-13P;

AutoCAD SHX Text
wall+SP1; wall+SP2

AutoCAD SHX Text
ARx; PRx


SPE[WW[ATWONfSTU[KtVSTEfNOMEN[tATﬂﬂ?EfEtEMENTﬂfESPE[WW[ATW@N Profile Lengfh
Pos Pes
FR28-2572L (mm| (mm|
Door - Tur - Porfe - Porta-Puerfa 1500x1873 1
B H
1UZ8
13P |
A 0 H
B o
] © |Object name FR28-2524 Page  3/3



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR28-2524

AutoCAD SHX Text
3/3

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR28-2524

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
TU28

AutoCAD SHX Text
-13P

AutoCAD SHX Text
Door - Tür - Porte - Porta-Puerta 1500x1873

AutoCAD SHX Text
1


CoBS

Rai3
Raik
2900
28
200 2441
CoB1 = = = =
Rai i & i &
Rai2 | | 0
CoB1
Rail
\\ Rai?
s = 5.97m2
X | - /15?873 - @



AutoCAD SHX Text
1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
2

AutoCAD SHX Text
150x187.3

AutoCAD SHX Text
5.97m2

AutoCAD SHX Text
SP1

AutoCAD SHX Text
SP1

AutoCAD SHX Text
SP1

AutoCAD SHX Text
SP2

AutoCAD SHX Text
SP2

AutoCAD SHX Text
SP2

AutoCAD SHX Text
SP2

AutoCAD SHX Text
CoB5 Rai3 Rai4

AutoCAD SHX Text
CoB1 Rai1 Rai2

AutoCAD SHX Text
CoB5 Rai3 Rai4

AutoCAD SHX Text
CoB1 Rai1 Rai2


003

ONONONONONON ONONON—

ONONONIONONION O
(eles el e o o e el ol o e e e Lab L T o )
(el el el e e el e e L e e [l )

A1,

55mm

C = )

2900

dS

2500

120mm

i

dS

1459

Or=—DOLN T M — O
s s s s s OO D LN~ MO

=
S =



AutoCAD SHX Text
120mm

AutoCAD SHX Text
55mm

AutoCAD SHX Text
Wall  1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
001

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
002

AutoCAD SHX Text
003

AutoCAD SHX Text
Pst1

AutoCAD SHX Text
Pst1

AutoCAD SHX Text
SP3

AutoCAD SHX Text
SP3

AutoCAD SHX Text
SP3

AutoCAD SHX Text
SP3

AutoCAD SHX Text
CoB2

AutoCAD SHX Text
CoB2


2900

55mm

57

604¢

—o|
(- )

(-
(=}

L6l

[ T o N o VI o VI o VI o T e T o N o T e T e I e I VI o I Tl S
(el e e el e o la fa fas e fab el e L e -
[l e e e e e e L Ja e fa e e e s e

745

55mm

1881

LAl LALALNLALNLALALNDLNLALN LALLM
(=l el L e e e L e e fa e e - e
(=l il le e el L fa e L e e el )

ldl

479

15472

479

2500

[
L

—

7859

—OLN - M — D

55mm

L

v v v v O\ OO [ \DO LN ~F M O

=
=



AutoCAD SHX Text
55mm

AutoCAD SHX Text
55mm

AutoCAD SHX Text
55mm

AutoCAD SHX Text
Wall  2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
20

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
Pst2

AutoCAD SHX Text
Pst2

AutoCAD SHX Text
TP1

AutoCAD SHX Text
TP1

AutoCAD SHX Text
CoB4

AutoCAD SHX Text
CoB4


=
al
>

PN N

— N W FUT O —1 o DO
>‘ O — N W U1 O —1 Q0 DO

24k

CoB3

CoB3

2441

2412

24k



AutoCAD SHX Text
Wall  A

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
CoB3

AutoCAD SHX Text
CoB3


=
a
W

PN N

— N W FUT O —1 o DO
>‘ O — N W U1 O —1 Q0 DO

24k

0=

CoB3

CoB3

2441

2412

24k



AutoCAD SHX Text
Wall  B

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
13

AutoCAD SHX Text
14

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
009

AutoCAD SHX Text
CoB3

AutoCAD SHX Text
CoB3


LT

ITITATITI T,

-




AR1
ARZ
3,5x25
6x120

NwWw NN DN

pcs
pcs
pcs
pcs
pcs

AR2

AR1

DYV




Pst1 2 pcs
Pst2 2 pcs
001 1 pcs
004 2 pcs
008 2 pcs
16 pcs
3,5x25 64 pcs
4,5x60 16 pcs

Pst1 Ml pstz

B W

o o




TP1 2

002 16
005 32
008 32
4,5x50 34
4,5x60 256

pcs
pcs
pcs
pcs
pcs (TP1)
pcs

002

TP1




TU28-13F 1 pes

A

.




WA-1
wB-1
002
003
006
007
4,5x60

QRN




,7
“\ \,.

NNH/AA
/7,___

=




B

9461 =




TR
ML LT | v B
T [ TT T,




Rai4 Rai?




CoB4

[N

JUNRNARNARRRRRAY

(RN

L

B4

CoB3 L,

Q

CoB1

—
p—

4,5x50 /TF [

(n

1 —

\\M

(oB3




	1. kontrleht FR-EL-PAV-maja eng-ger-fra-ita-esp-nl-no-dk
	3. esileht FR-maja eng-ger-fra-ita-esp-no-nl
	FR_tekstiosa_ENG-DE-FRA-IT-ESP_NO_yld.pdf
	FR_tekstiosa_ESP_yld.pdf
	 Estimado cliente,
	 Garantía 
	 Pintado y mantenimiento de la casa
	2 Preparativos para el ensamblado 
	Herramientas y la preparación de los componentos



	FR_tekstiosa_NL_yld.pdf
	Algemene informatie
	Geachte klant,
	Garantie
	Tuinhuis, schilderen en onderhoud

	Voorbereiding voor montage
	Gereedschappen en voorbereiding van de onderdelen
	Fundering

	Tuinhuis assemblage
	Basisstructuur (Funderingsbalken)
	Wanden
	Deur en raam
	Topbalken
	Dak
	Vloer
	Stormankers (NB! Zijn in sommige pakketten niet inbegrepen!)
	Algemeen advies:





